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VYLUŠTI SLOVESA V MINULÉM ČASE PROSTÉM A DOPLŇ JE DO TEXTU 

/ UNSCRAMBLE THE VERBS IN THE PAST TENSE SIMPLE AND COMPLETE THE TEXT / 

ROWAN ATKINSON 

If you don´t know who Rowan Atkinson is, it´s enough to say just one name – Mr Bean! 

Rowan SWA……………RNOB………………………on 6 th January 1955. His father DHA …………………..a farm  

and young Rowan  VLOED……………………….to drive his father´s tractor. As a child, he  

SWA………………..a class clown but later on he BECAEM…………………………rather quiet and shy. He  

was a very good student and he FNISHIED…………………………….two universities. Rowan  

LPAEYD…………………………………..the lead role in the popular historical sitcom  The Black Adder. He  

also appeared in many movies.In 1990. he LLEF ………………………………in love and married BBC make- 

up artist Sunetra Sastry.In the same year, he DESRTAT……………………………. his famous  TV series. He  

RRSTAED………………….as Mr. Bean till 1995. It was his most iconic character and made him very  

famous. After 5 years with Mr. Bean, Rowan was bored of playing the same character. He  

DETAWN…………………………..to take up new roles and concentrate on theatre. Neverthless. he OOTK  

ON……………………………..the role of Mr.Bean several more times.  

 

READ THE TEXT AGAIN. ARE THE SENTENCES TRUE OR FALSE? 

a/  Rowan´s  father was a farmer. ………… 

b/  Rowan was a very quiet child. ………… 

c/   He was a succesful student at university……………… 

d/   He first played Mr. Bean when he was 45. …………. 

E /  He never played Mr. Bean after 1995. ……………….. 


